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2ZN: lexeme, token, id

- E3(token)
— o|OjMo g JEL|= XA Cthe|
- EX. index = 2 * count + 17,

« id(identifier)
- 2XtY(lexeme)0| B, stH ZE|AH 52 0| [}
- Ex. index, count



- id(identifier) & == &

<id> => <letter> (Kletter> | <digit>)*
Lletter>->a|b|c| | z
<digit>->0 1|1 [2] - | 9

o I}AM(derivation)

<id> => <letter> (Kletter> | <digit>)*
=> | (<letter> | <digit>)*
=>in (Kletter> | <digit>)*
=>ind (Kletter> | <digit>)*
=>inde (Kletter> | <digit>)*
=>index
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S=>0
= S=>510=>010
= S=>510=>351010=> 51010 -+ 10 =>01010
=> 0(10)*
2 L =40, 010, 01010, ----- , 01010+ 10}

= 0(10)*
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2 B H(CFG: context—free grammars)
OELCH =B, Noam Chomskyd{| S|sA 7| Lt
- XA 00| Ciet 1 & 7|= |SM2=E 471X fd 20
X O] (Chomsky®2| Hierarchy)
- Z=0:29 A0 V[=0| 8¢ 274K 7Y
« M BEH(regular grammars) (type 3)
+ TUAF 2 (type 2)

« BNF(BNF: Backus—Naur Form)(1959)
— John BackusZ} 19t (Algol 58 7|=)
— 0| & Peter NaurZ} =™ (Algol 60 7|<=)

- BNFE 2YXIQ 2¢1 52



NS CFQG

Unrestricted G. (type 0)

Zontext Sensitive G. (typal)

ontext—Free G. (type

Regular G.
(type3)



CFG

— Context—Free Grammar(CFG)2o| EXI

A->B O7|M, A= nonterminal2| &,
B= nonterminallt terminalO| 430
L} @ = arbitrary string

(ZF, empty string2

— nonterminal®| &t = {A, B, C, -+ 7}
terminals= 1 2|°| AFAt & ELFA}

- Ex. E->E+E
E->E~*E
E->(E)
E->id

o EX| )

10



, right=linear Q.
, left=linear G.

07| M, AQ} B= %|CH SFLFC| nonterminal,
= 071 O] & Q| terminalZ2 718 (&, empty= 8| 2)

— Ex 1) right-linear Ex 2) left—linear
S —> 0A S->S10 1| 0
A->10A | ¢

— Ex 1)1} Ex 2)= &< string 0(10)* & AHMSICY.
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BNF (CFG1t J|

& 7o
- LHS, RHSZ #+4
« LHS(left—hand side): 3t 7§29| =F 0|4 (nonterminal symbol)
2 H3 (nonterminalS BNFYAM = &S5 2 LIEFL DT,
CFG O M= CHEXE LIEHH )
« RHS(right—hand side): E{ O] & (terminals)id} =EO/YE2 M
5 X2 T
« HO|lY2 {32 = EEE 0|& (terminalE2 BNFO M=
2425 go| LEH|T, CFGOAS 48X 52 S48X 2
LEEFEH )

— EX.
<id_list> - 1d | i1d,<id_list>
<if_stmt> - 1T <logic_expr> then <stmt>

12



G_

(N, T, S, P)

N: =09 E=9| &lst(a set of terminals)
T: E{0|9 &9 & gH(a set of terminals)

S & N: A& 7| S (start symbol)

P: Al A XI=0O| XISk production rules)

13



BNF 7=

+ £ 7} 0|42| RHSE =¥ 7hs
<stmt> — <single stmt>
| begin <stmt list> end

e X|# (recursion)E AFEE|7|E &
<id list> —> id
| id, <id list>




Reqgular G.2F CFG

- ¥ef& ChSot 20| EH|OF Bt
<id_list> — <id> | <id>, <id_list> > cra

<id> —> <letter> (<letter> | <digit>)*
Lletter>->a|bl|lc| - | z Regular G.
<digit>->0|1]2]| - | 9

» 8Lt ES2 Ch=df €0] Bieth}.
<id_list> —id | id, <id_list> > CFG

- 02
1) <id>, <letter>, <digit> = regular G. O|C}. 0| Zd £ lexical analyzerdj|
O|dl| token@ &2 OIAIE|LC},
2) O] tokenO| syntax analyzerQ| inputO| =ILC}.
3) syntax analyzer0| Z st 2H2 CFG BH0|C}.
4) =, syntax analyzerQ| A= <id>7} o|0] EAM x| 0] token(=terminal)
O QOl|Al 15



<program> — begin <stmt_list> end
<stmt_list> — <stmt>

| <stmt>; <stmt_list>
<stmt> - <var> = <expression>
<var> - A | B | C
<expression> — <var> + <var>

| <var> - <var>

| <var>

¢ “begin A=B+C; B=C end’Q| 2ZX0| EH GI1OCZ2ZEEH M
ME|=7}?
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leftmost vs. rightmost derivation

HOIl A 7t ZF=0 X8t =E{O]<E 0| 2
A A EHEICE

OF M

« X|2CH £ - (rightmost derivation)

HOlM 7ts =0 ?IX[et =H0[ 20| 5
Al < EH =TT

OF M

18



Example: leftmost vs. rightmost

derivation

<program> — begin <stmt_list> end
<stmt_list> — <stmt>

| <stmt>; <stmt_list>
<stmt> - <var> = <expression>
<var> - A | B | C
<expression> — <var> + <var>

| <var> - <var>

| <var>

« “begin A = B+C; B=C end” 2}= 2 X0 M

— 2 2% MAMo| Cist XXEt S = (leftmost derivation)S

0=
0x
=
En
ot
E>

|2 FE=(rightmost derivation)
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Example: rightmost derivation

<assign> — <id> = <expr>
<id> > A | B |C
<expr> — <id> + <expr>

| <id> * <expr>

| (<expr>)

| <1d>

20



A E2l(parse tree)

<assign> — <id> = <expr>
<id> > A | B |C
<expr> — <id> + <expr>
| <id> * <expr>
| (<expr>)
| <id>

- 4= A8 o2 HAHDE A0| parse tree

Top—down parsing
Bottom—up parsing

21



oA E2l(parse tree)

© =Y 720 Ciet ASH 7

- Y == EOlg
- 9 = Eo|Y

<assign>

22



Example: parse tree

» Ot =40 tieh it~ Ed|S 242}

Begin A=B+C; B=C end

<program> — begin <stmt_list> end
<stmt_list> — <stmt>

| <stmt>; <stmt_list>
<stmt> - <var> = <expression>
<var> - A | B | C
<expression> - <var> + <var>

| <var> - <var>

| <var>

23
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Example: Ambiguity

=8 G3

<expr> — <expr> + <expr>
| <expr> * <expr>
| (<expr>)
| <id>

<id> > A | B |C

+ MO
rE
> O
rr
Ao HO
0z ot
rot
N
-5

St parse treeES 9o}2}.
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Example: Ambiguity

<EXpr> <eXpr>

<expr> <expr> <expr> * <expr>
<id>  <expr> <expr>  <expr> <expr>  <id>
B <id> <id> <id> <id> A

26



712

Unambiguous Grammar

<expr> — <expr> + <expr>
| <expr> * <expr>
| (<expr>)
| <1d>

<id> - A | B |C

=% ES>E+E|E*E]| (E) | id

-
L

H= Unambiguous GrammarzZ 14 2}7?

27



Unambiguous Grammar

T — m
NN}
~ —m
m * +
“ T+
- T —

- "B+ C * A"O| 2E0 ISt parse treeZ L&}
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L= GlAC ifE

<if_stmt> — i1f <logic _expr> then <stmt>
| if <logic _expr> then <stmt> else <stmt>

29



<if_stmt>

if <logic_expr> then <stmt> else <stmt>

<if_stmt>

if <logic_expr> then <stmt>

<if_stmt>

if <logic_expr> then <stmt>

<if_stmt>

if <logic_expr> +then <stmt> else <stmt>

30



<stmt> —» <matched> | <unmatched>

<matched > — 1T <logic_expr> then <matched> else <matched>
| any non-i1f statement

<unmatched > — 1f <logic_expr> then <stmt>
| 1T <logic_expr> then <matched> else <ummatched>

31
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» LHSO0AM O] +ELC &2 2= T =85

3ot}

<assign> — <id> = <expr>

<id> > A | B |C

<expr> — <expr> + <expr>
| <expr> * <expr>
| (<expr>)
| <id>

- Hint: |28 =(0|4 <fact>Q} <term>& L ¢Ql.
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<assign> — <id> = <expr>

<id> > A | B |C

<expr> — <expr> + <term> | <term>
<term> — <term> * <fact> | <fact>
<fact> —» (<expr>)| <id>

==}

T ES>E+T|T
T>T*F]|F
F> (E) | id

- “A=B+C*A", “A=B+C+A"0 Cjst TAEZ|E EX}

34



Unambiguos Grammar

- M=%t YN TICEH CxAE HA =& . (0|77 )
— left association rule(ZfAstH Al 0| MEEICH (0|27 )
<assign> <assign>
/N g ! —oxprs
<id> = <expr> | /I\
‘ /‘\ A <expr> + <term>
A <expr> + <term> /I\
/I\ <expr> + <term> <factor>
<term>  <term> * <factor>
<term> <factor> <id>
<factor> <factor> <id>
<factor> <id> A
<id> <id> A .
<id> C
B C




=l (Association rule)

S SHOIA 2t ALKt ABA L7

<assign> — <id> = <expr>

<id> > A | B |C

<expr> — <expr> + <term> | <term>
<term> — <term> * <fact> | <fact>
<factor> — <exp> ** <factor> | <exp>
<exp> — (<expr>)| <id>

- "Axx B*x C"0l CHEH A ECIE EXRt

36
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Extended BNF(EBNF)

1o []: A Areh &9

ex. <selection> —» if

(<expr>)

<stmt>

[else <stmt>]

2. {}: HHE Alst 34 (0 or more)

ex. <ident_list> - <ident> {,
3. (): Cs M8 B

<ident>}

ex. <term> — <term> (* | /) factor
4.+ : I Ol HI= BT
ex. <compound> — begin {<stmt>}* end

38



Ol K= EBNF

- [t= BNFE EBNFZ HES2}.

o
—

BNF:

<expr> — <expr> + <term> | <expr> - <term> | <term>
<term> —» <term> * <factor> | <term> / <factor> | <factor>
<factor> — <exp> ** <factor> | <exp>

<exp> — (<expr>)| <id>

EBNF:

<expr> —» <term> {(+ | -)<term>}
<term> — <factor> {(* | /)<factor>}
<factor> — <exp> {**<exp>}

<exp> — (<expr>)]| <id>

39



Example: in C

statement:

for( expr—1opt ; expr—2opt; €XPr—3opt) Statement
if (expression) statement
while (expression) statement

OtSH B At opt AHE
Ex. Proc > name(parameterListopt)

“one of” AlE

Ex. Operator > one of + * - / < >

|’ & Metst 3Jf, 2F RHSE Sh=5| 2T 2| =0
Eéﬂ

40
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